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1 kOTHEXDI B, XFE-2THLHDIZENTT D,
@ x+2=- @ 3x-5=4x
& 2x+5=T7x—-8 @ 3(x+2)=0

2 RkoHERZE, ERXOWMEEME - THREX 2 S0,
— HFXoWmE

4

KXOMAIZF UL E M2 T, FXII Y 2o,
COMA A5 [H Uz 0wt d, Sk o,
KOWBIZH Uz 20T, FXUIL Y 22,
ROMBAZF UEThoTH, F3k Y 7o,

®» ® 6 6
4
2

4 48

7, TOEE Mo FEROUHEEZER B3\
(1) x+5=-10 (2) x-9=-3

(3) —dx=12 (4) %§=—6




3 ROFEXNEME %30

(1) 6x—-15=9 (2) 20-14=4x

(3) 8x—-5=3x+15 (4) —-3x+11=6x-7
(5) 4+y=2y—6 (6) 20—1=24+7x
(7) 9x—1=6x+2 (8) 4x—2=—-x+8

4 ROFEXZME RS0,
(1) 3(22¢+4)=3-3x (2) 4x-2(x-3)=-2

(3) 03x—-24=11w (4)
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5 KOWBINEME 2 S,
(1) 7:2=2:6 (2) w:(x+11)=2:13



